Tun 103 104 105 106
YyBCTBUTENBHOCTD —211xab na 1 B/mxIla B+2 n1b —2051b na 1B/mxIla B£21b —1731b na 1 B/mklIla B+31b
HomuHanbHast 4yBCTBUTEIBHOCTD 110 29 MxB/Ia 56 uxB/Tla 2.24mKB/a
HaNPSHKEHUIO
H Her
3;“:“3“"“" HYBCTBUTCILHOCT 1O 0,1 pC/IIa 0,44 pC/Tla 0,41 pC/Tla (BCTpOCHHBIA

pARY MIPE Ty CUITUTEh )
ot 0.1’ mo 20 xI' or 0.1’ mo 10 xI' oT 10 'y mo 10 xI'
+1/-1. +1. +0.5/-3.
1/~1.5 nb B=+1.5 nb o1 0.1T1 10 100 KTt 0.5/-3.0 nb
+ —
Yactormerii otk (Ha 2500') oT 0.1’ mo 100 xI'1x oT 0.1T'x mo 80 xI'nx 1/-6.5 nb ot 7'y mo 30 xI'g
+1.5/— + +0.5/—
1.5/-6.0 nb B+4.0 nb ot 0.1T'1 10 160 kI't 0.5/-6.0 nb
J’_ p—
o1 0.1T11 710 180 k't o1 0.1T11 710 120 k't 3.5/-10.0 2B ot 3T 10 80 KTy
+3.5/-12.5 nb +4/-12.0 nb +6/—10.0 b

Juana3oH pabouux TeMIepaTyp:
KpaTtkoBpemeHHO
HenpepsiBHO

ot —30 °C o +120 °C
ot —30 °C o +80 °C

0110 °C go +60 °C

Makc. pabodee cTaTHueCKOe

252 nb =4 x106 I1a = 40 at™m. = 400M ri1yOUHBI OKeaHa

260 1b =9.8 x 106 ITa = 100 atm. = 1000 M r1yOHUHBI

JaBJICHUE OKeaHa
Pazmepsr:
Jmraa 50 mMm 120 mm 93 MM 182 Mmm
Huametp kopmyca. 9.5 mm 21 MM 22 MM 32 MM
Bec (BxiT04as MHTETPUPOBAHHBIN 170 1.6 kr 380 1

kabeb)
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